

Penthouse in Mosta



Mosta, Central



€760,000

Reference No: 240251096-418

 Total Rooms: **7**

 Floor Area (m²) : **190**

 Bathrooms: **2**

 Bedrooms: **3**

Penthouse - For Sale - Mosta

Situated in the highly sought-after Zokrija area of Mosta, this exceptional penthouse offers a perfect blend of space, comfort, and modern living. The property features three generously sized bedrooms, ideal for a family. The main bedroom enjoys the luxury of a walk-in wardrobe and a private ensuite shower, creating a comfortable and private retreat. At the heart of the home is a large open-plan kitchen, living, and dining area, designed for both everyday living and entertaining. The bright and airy layout flows seamlessly onto a spacious front terrace, where you'll find a splash pool — perfect for relaxing, hosting gatherings, or enjoying outdoor living in style. A well-appointed guest bathroom complements the property, ensuring practicality and convenience for residents and visitors alike. This penthouse is being sold fully furnished and freehold. An outstanding home in a prime Mosta location — viewing is highly recommended.

Features

- ✓ Natural Gas
- ✓ Ceramic Floor
- ✓ Walk in Wardrobe
- ✓ Electricity Utility
- ✓ A/C
- ✓ Pool
- ✓ Air Space
- ✓ Kitchen/Dinette
- ✓ En Suite
- ✓ Water Utility
- ✓ Gypsum Plastering
- ✓ Double Glazed
- ✓ Terrace
- ✓ Pool Deck

Rooms

- ✓ Kitchen/Living/Dining : 8.78 x 5.52 m (48.47 m²)
- ✓ Double Bedroom : 6.34 x 3.55 m (22.51 m²)
- ✓ Double Bedroom : 4 x 3.22 m (12.88 m²)
- ✓ Double Bedroom : 4 x 3.32 m (13.28 m²)
- ✓ Bathroom : 2.58 x 3.4 m (8.77 m²)
- ✓ Walk In Wardrobe : 4 x 0.6 m (2.4 m²)
- ✓ Shower Ensuite : 4 x 1.5 m (6 m²)
- ✓ Open Space : 5.3 x 4.25 m (22.52 m²)

✓ Open Space : 10 x 1.5 m (15 m²)

Gallery











Clive Pollacco

RE/MAX Advantage

M: 79486346

E: clivep@remax.com.mt

T: 21222123

RE/MAX Advantage

Advantage Residential Ltd, Triq Dun Karm, Birkirkara, Malta